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B %W 1 T H 263 259 299 558| T~ #WiEI6 T H 534 543 522 1,0650%7 #7 7 T H 1,282 1, 546 1,411 2,957 [HI A BT 3T H 230 256 219 475
B W2 T H 368 345 378 723 - WEET6 T H 378 367 400 767(8 BT 8 T H 667 772 644| 1,416/ | 4,745 4,970 5,051 10,021
B W 3 T H 291 327 302 629 i 9, 684 9,938 9,737| 19,675/ BT 9 T H 1,331 1,382 1,097 2,4719| " {RB1T H 93 95 92 187
P45y ET 1T H 148 145 135 280[%k e 596 629 644|  1,273[KJKHI1 T H 116 91 106 197| —fRE2T H 338 356 360 716
795y ET 2 T H 95 90 76 166|% BT 1 T H 370 413 389 802[FK /& T2 T H 516 538 514 1,052 " f=RE3TH 293 313 323 636
794y BT 3 T H 132 149 165 314(%F BT 2 T H 703 697 707| 1,404 2 9,731 10,719] 9,730| 20,449 {224 T H 124 110 124 234
fE T iy 281 248 262 510|% k- HT 3 T H 1, 566 1,434 1, 403 2,837 BT 1T H 813 813 840 1,653 =251 H 87 101 93 194
A T 430 406 409 815(%F |- M7 4 T H 797 767 741 1, 5083 30 WY 2 T H 309 337 300 637R 1 T H 84 68 71 139
fif iy 195 182 181 363K M 1 T H 872 969 914 1,883[{r L BT 3T H 239 255 250 505[iR 2 T H 111 117 110 227
I T 125 101 118 219k 4 2 T H 352 398 413 8L 4 W1 4 T H 784 695 691 1,386[iR # 3 T H 120 112 104 216
7 T iy 176 199 193 392k M 3 T H 744 858 876 1, 734[r D BT 5T H 791 726 735 1, 461H & A HT 152 131 155 286
HE 1} 412 387 434 821t i 454 428 495 923\ 50 BT 6 T H 1,253 1,228] 1,232 2,460/ & 1 T H 50 40 40 80
K » W Hr 510 522 516  1,038[4 53 490 533 537| 1L, 070[W A BT 7T H 1,151 1,041 1,102 2,143\ & 2 T H 63 58 55 113
W/ bk HT 306 281 276 557(K B F 1T H 279 312 316 628|371 HT 8 T H 833 839 722|  L,561|81 & (L 39 57 63 120
N Gl ) 517 506 506 1,0120K % T 2 T H 275 335 340 6757 3 BT 9 T H 965 798 904 1, 702[/)n it 1, 554 1,558 1,590 3,148
HmfmELTH 196 187 194 3814 5 1 T H 632 832 804 1,636[{r A ET10 T H 969 785 764 1,6549|% W 1 T H 297 222 239 461
HmfimE2T H 243 236 259 4954 SF 2 T H 169 233 228 461 5 8,107  7,517|  7,540| 15,057|% [ 2 T H 84 87 79 166
HmfHE3T B 328 371 364 7354 F 3 T H 395 515 445 960\ & 1L T B 189 184 201 385\ [l 3 T H 173 140 127 267

2k 5,016| 4,941| 5,067 10,0085 =F 4 T H 627 745 715 1,460[# 1 2 T H 1,079 1,256 1,214| 2,470/hNEAR1TH 102 96 103 199
B oA BT 1T H 237 258 258 516(4 F 5 T H 551 666 656 1,322[# 1% 3 T H 381 387 402 789/ N A2 T B 44 47 51 98
|ﬁl§@ AHT2 T H 354 351 353 704 2k 9,872| 10,764| 10,623 21,387|4 # 1 T H 1,385  1,432| 1,451| 2,883/ AR3TH 170 177 177 354
B A RT3 T H 212 239 258 497 & M1 1T H 497 417 488 9054 2 T H 1,063 1,057 1,103[  2,160/h K4 T H 214 149 210 359
E W1 T H 711 677 657 L34 HF M2 T H 827 752 762 1,514|4 J# 3 T H 884 930 913 1,843/ A5 T H 75 72 83 155
E W2 T H 744 816 805 1,621 H M3 T H 1,158 1,075 1,106 2,181|4 #H 4 T H 0 0 0 O[E W1 T H 173 151 150 301
E W3 T H 406 465 454 9K H Mfr4 1 H 788 637 666 1,303|5 J 5 T H 166 52 137 189/ W 2T H 243 260 242 502
E W4T H 801 778 867 1,645 H M5 T H 1,055 949 992 1,941 &t 5,147  5,298| 5,421| 10,719|® R 3 T H 222 163 193 356
E W5 T H 516 494 518 1,012 H #E6 T H 411 434 387 821|/)s il 55,740| 56, 711| 55,856| 112,567[/ B 1,797 1, 564 1,654 3,218
E e T H 224 217 240 457118 » 4 1 T H 386 379 380 TR 1 T B 361 392 365 757 A1 T H 206 152 208 360
E W7 T H 488 487 408 895 » i 2 T H 854 640 802 1,442 2 T H 404 413 423 836[k A 2 T H 212 208 160 368
E W8 T H 278 291 277 568kl [id] BT 1 T H 354 399 386 7850 3 T H 457 490 475 965[p% A 3 T H 105 112 104 216
E W9 T H 4 4 4 8| [ BT 2 T H 786 854 842 1,696/F0 HHEI 1T H 205 219 210 429 A4 T H 50 41 47 88
K HE 1T H 311 313 293 606kl [id] T 3 T H 599 591 530 1,121/ HEFT2 T H 282 275 302 577[f A5 T H 69 59 71 130
KHEHE 2T H 342 305 294 599kl [id] BT 4 T H 468 407 397 804ltfE #F 1 T H 184 219 221 440[p% A 6 T H 36 39 35 74
K HHE 3T H 351 384 370 754 5 8,183 7,534 7,738 15272 4% 2 T H 208 222 257 479 A7 T H 66 67 65 132
KHEHB 4T H 315 367 348 71508 BT 1 T H 1,235 1,373 1,317 2,690 # 3 T H 191 200 206 406[p% A 8 T H 87 96 74 170
K HE 5T H 317 350 343 693[%r M7 2 T H 858 938 839 L7771 %8 4 T A 228 254 234 488|/)5 3t 831 774 764 1,538
T #EHETL T H 663 670 672| 1,342[% W7 3 T H 1,557  1,610] 1,480 3,090k 4% 5 T H 548 616 665 1,281|H 8k BF & F| 8,927 8,866 9,059 17,925
T #HET2 T H 565 578 566 1,144(% W7 4 T H 740 775 773| 1,548k 4% 6 T H 568 620 564 1, 184|& #H 64,667 65,577| 64,915| 130, 492
T WEHT3 T H 426 507 415 922(%r M7 5 T H 1,331 1,578 1,436  3,0l4|fh A BT 1 T H 360 394 395 789
T W4T H 507 4717 415 892(%r M7 6 T H 98 116 113 220l AT 2 T H 519 400 515 915




